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Balancing Equations Worksheet KEY

Zn(s) + 2AgNO; (aq) = Zn(NOs), (ag) + 2Ag (9)

N2(9) + 3H2(9) = 2NHz(9)

NaCl (ag) + AgCoH30; (ag) = NaCyH30- (ag) + AgCl (s)

3 Mg(OH), (aq) + 2H3PO4 (ag) = 6 HO (1) + Mgsa(PO4), (ag)

2 HNOj3 (ag) + Ni(s) = Ni(NOs); (aq) + Hz (g)
Ba(HCOs); () = BaCO3(s) + H20(g) + CO; (g)
BaCl, (ag) + NapSO4(ag) = 2NaCl (ag) + BaSOy (S)
Alx(CO3)3(s) = Al;03(s) + 3CO; ()

Ca(s) + 2H,0(l) = Ca(OH); (aq) + H2 (g)

2 LIHCO3 (s) = LinCO3(s) + Ho0(g) + CO; (g)
2N2(g) + 502(9) = 2N205(9)

MgBrz (ag) + 2KOH (ag) = 2KBr(ag) + Mg(OH)2 (s)
Mn(s) + 2CuCl (ag) = 2Cu(s) + MnCly (s)

8Zn(s) + Sg(s) = 8ZnS(s)

2 NaOH (ag) + HpSO4(ag) = 2Hy0 (I) + NapSOy (aq)
2K (9 + 2H,0(l) = 2KOH (ag) + H2 (g)

CsHiz (I) + 802(g) = 6H0(g) + 5CO;(g)

2KOH (aq) + HaCOsz(ag) = 2H,0(l) + K,COs (ag)
C4HgO2 (I) + 50, (g) = 4H0(g) + 4 CO;(q)

16Al(9 + 3S5(9 = 8AILO3(9



